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Booklet A {50 marks)

For each question from 1 to 25, four options are given. One of them is the correct answer.

Make your choice (1, 2, '3 or 4). Shade your answer on the Optical Answer Shest.
(25 x 2 marks)

The table below provides some information on the characteristics of organisms A, B
and C.

A tick (v} inthe box indicates the presence of the characteristics.

Organisms Feeds on | Reproduces | Makes its
dead matfer | from spores | own food

A v
B_ v v
C v v

Which of the following represents organisms A,BandC?

" . B c
(1) Femn Lemon Tree Mould
(2) Lemon Tree Mushroom Fem
(3) Mushroom Mould Lemon Tree
) Mould Fern Mushroom
2. Remus germinated a seed and recorded the observations in ihe table as shown
below.
Observations Day
Seed becomes swollen 1
Seed coat breaks 4
- Roots start to appear 6
Shoots start to appear 9
Seed leaves finally drop off 16

On which day will the seedling most probably be able to photosynthesise?

(1 1
(2 4
3 8
(4) 15
ACS (Junior) P5 SA2 2017
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[44]

& The diagram below shows the cross-section of a flower. Karen has identified some

parts of the flower and recorded the name and function of each part of the flower in the
table below.

Part | Mame of part Function

Stigma It produces the female sex cells.
Anther it preduces the male sex calls.

Style It receives the pollen grains.
Fitament It supperts the enther.

2R -

Which of the above names of parts and functions match the labelied paris coreciiy?

(1) JandLonly
{2) KandM only
(3) LandM only
{4) J,KandL only

ACS (Junior) P5 SAZ 2017
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4, Study the fiow chart below carefully.

Objects

Is it flexible?

Yes Is it

waterproof?

-

No

No

Does it allow
light t6 pass
through it?

e

No

Which of the following correctly represents objects W, X, Y and Z?

W X Y Z
(1) Raincoat Shirt Window pane Brick
(2) Shirt Raincoat Brick Window pane
(3) Window pane Brick Raincoat Shirt
4 Brick Window pane Shirt Raincoat
ACS (Junior) P5 SA2 2017
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(41}

Which of the following statements about the life cycles of a butlsiily and 2 frog Isfare
incorreet?

A Both life cycles have three steges.
B Both of their young live in water during the early stages
c The butterfly gives birih to live young but the freg lays sags.
D The life cycle of a butterfiy has a pupa siage but the life cycle of 2 frog
doss not have a pupa siage.
(1) D only

(2 BandD only
(3) A, BandC only
4 A CandDonly

Kennethi wants to find out if the number of coils of wire around an iron nail affscis the
strength of the electromagnet, An iron nail becomes an eleciromagnet when It is
placed in a coil of wire jeined fo balteries in a closed circuit.

£irangement Number of baiteries | Number of coils of wire around iron
nail
P 2 30
Q 1 20
R &4 30
8 2 50

Which two airangemenis below should he set up fo carry out his investigaion?

) Pand R
(2) Pand S
(3 RandQ
{4) Qangd s

www.testpapersfree.com



6

The diagram below shows a container with Substance P placed in different positions
as shown below.

Substance P

e .
-

Position 1 Position 2 Position 3

Based on the diagram, what can you conciude about substance P?

1)
(2)
3
(@

w P takes up space.

X P can be compressed.

Y P does not have a definite volume.
.4 P takes the shape of the contaimer.

Z only

X and Y only
W and Z only
W, Xand Y only

Joan made a comparison of the reproductive systems in flowering plants and humans

in the table below.
A Flowering Plants Humans
B The male sex cells are called The male sex cells are called
Wy anthers. sperms.
c The egg is produced in the ovary, :‘\rﬁeeggee!llsfoundmsueme
D Only fertifised egg cell develops into Only fertilised egg develops into a
a fruit. baby.
E Reproduction occurs to ensure the Reproduction occurs to ensure the
extinction of the species. continuity of the species.

Which of tha following isfare the correct comparison(s)?

(1)
2)
3)
(4)

C only

A and D only

B and C only
A, B and D only
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10.

)
(2)
(3)
@

Aaron set up an experiment to invesiigate the flexibility of 3 different materials, A, B
and C as shown beiow.

beaker of water ——) [
al o BEEETH distance between the
matenial B highest and lowest
wooden et \\ S points of the material
block

He poured different amounts of water into the beaker placed on top of each material
until the distance betwsen the highest and lowest points of the material reached 2 om.
He recorded his observations and concluded that material B was ihe most flexibie and

material A was thé least flexible. Which of the following did hs record in order fo draw
fthe conclusion above?

Amount of water in beaker {cm®)
Material A | Material B [ Material C
(1) 150 50 100
(2) 100 50 150
(3) 150 100 150
4 56 | 150 100

Study the water cycle below, X and Y represent the different processes that occur in
the water cycie.

/,- clouds ——————3 rain \

g water

k water — % 4/

vapour

Which of the following do X and Y represent?

X Y
Evaporation _Meiting
Condensation Melting
| Evaporation Condensation
Mslhting Evaporation
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11.  Mrs Lim has a discussion with her class. Four students made statements about the .
human reproduction process.

( ) A
it takes about Only one
nine months - spemis
for the baby needed to
to be fully fertilise an
Fertilisation kPt oo
takes place
inthe
male’s
body and
outside
female's
body., - female’s
stomach.

Michael Alila  Palrick May
Which of the following students made correct statements about human reproduction
process?

(1) Alicia and May

(2) May and Michael
(3)  Alicia and Patrick
(4)  Pabick and Michael
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12.  Rachei set up an experiment to find out how long it takes for an ice cube to meit. The
graph below shows the changes in the femperature of the ice cube when it was lsft fo

meit on a plats,
Temperature (°C)
3
room .-_--.c °
8
A » Time {(minutes)
Which point of the graph shows that the ice cube has just melted completely ic become
water?
Point
M A
(2) B
(3) c
C) D

www.testpapersfree.com
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13.  Paxonwas given a glass bottle filled with oil, There was a steel ring inskde.

glass bottle
Gil ———
\_@F— steel ring

Which of the following items can he use-to remove the steel ring without the item
touching the oil?

\J @

Copper hook Plastic stick Rod magnet

A B C
(1) Aonly
(2) Conly

3) AandBonly
4 ABandGC

www.testpapersfree.com
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14, The diagrem below shows the different systems In the human body working

together,
upper and
lower body
i FY
waste producis and loested d
e dige. food and oxygen
W Oxygeﬂ
X > 3 g >4
digested
food carbon
dicxide
Bssed on the diagram above, which of the following corectly represents X, Y
and Z?
" X Y F2
(1) Respiratory Circulatory Digestive
@ - Digestive Respiratory Circulatory
{3) Circulatory Digestive Respiratory
(4} Digestive Circulatory Respiratory

www.testpapersfree.com
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15.  The diagram shows a plant and the path ( ) taken by Substance X after
photosynthesis.

What is Substance X7

(1) water
(2) glucose
(3) chiorophyll

(4) carbon dioxide

16.  Denzel made the following statements on how a fish breathes.

Statement1:  Water containing dissolved oxygen enters the mouth and
passes through the gills.

Statement 2: Dissolved oxygen from the water is absorbed into the blood:
vessels in the mouth.

Statement 3: The fish opens its mouth to release dissolved carbon dioxide in
the water.

Statement 4: Dissolved carbon dioxids is carried by the blood from the
different parts of the fish’s body to the gills.

His teacher, Mr Karl, fold him that his statement(s) isfare incorrect. Which one
of the statement(s) is/are incorrect?

(1) Statement 3 only

(2) Statement and 4 only
(3) Statement 2and 3 only
(4) Statement 1,2and 4 only
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17.  The bar graph below shows the conceniration of oxygen in four biood samples

taken at the same fime from different blood vessels located at ifferent paris of
the circulatory system.

Y

Concentration of
oxygen

L

A B G D

-
—

Blood samples

The following diagram shows how blood flows in different parts of the human
body.

Head
P Lungs +
& : S
b4
B "ha}i i
Q R
» Small intestine |4

Which blood sample is most likely to be taken from the blood vessel which is
labelled S in the diagram above?

M A
2 B
@ ¢
4 D
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18..  The table below lists cell.parts of animal and/or plant cells and their functions,
Parts of Cell | Presentin | PresentIn Function of the part
Animal Plant
Cell2 | Celi?
A Nud Yes Yos g;ﬂ_rols all activiies in the
Allows the movement of
- Cxtopiasin b o substances around the ¢sil.
. Contains chlorophyll which
C Chloroplast No Yes tures light to make food.
Protects the cell and gives it
D | Cell Membrane Yes Yes afixed shape.
Controls the movement of
E Cell Wall No Yes substances in and out of the

cell

Which of the following is Incorrect about the cell parts and / or their functfons?

ABandC
A DandE
B,Dand E
G, DandE

(1)
2]
)
“)
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18.

15

The dlagrams below show four circuits with different amangements of identical
batteries and light bulbs.

) 288 |

Which of the following shows the correct order of the brighiness of the light
bulbs in clruits P, Q, R and S, from the brightest to the dimmast?

(1) RQPS
2} QRSP
3) Q.SRP
4 S,P,QR
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20,

18

Jerome used a circuit tester to test a.circult card. He connacted the points X
and Y of the circuit tester to the various clips K, L, Mand N on a circuit card to
see if the bulb would light up. He recorded the resuits of his experiment in the

table below.
Connectlion tested | Did the bulb light up?
Kand L No
Kand M Yes
L and M No
Land N No
Mand N Yes

X

e

circult tester

Which one of the following represents tha circult card that Jerome tested?

(1)

(2)

)

(4)

fp

/

\

r\ii \
A A

V

M

“
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21.  Jadyn conducted an expariment using the two set-ups as shown below. He
~ heated both beakers with Bunsen bumers of same heat intensity until the water
in both beakers boiled.

o i thermomster

room
_______ lemperature
Bunsen
bumer

Set-up A

Which of the two conclusions are the most accuraie based on Jadyn's
axparimant?

A The water in both sei-ups have the same amount of heaf
B The water in Set-up B has more amount of heat than the water in Set-up

A,

C.  The lesser the volume of water, the faster it will take to reach boiling
point.

D The greater the volume of water, the faster & will take o reach boiling
point,

(1) AandcC

(2) AandD

(3 BandC

(44 BendD
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22,

Yong Xin wanted to find out the amount of Ii
material. He used a light sensor attached to
experiment with three different cu
size and thickness. He recorded

(1)
(2)
(3)

Amount
of light
passed
through

A

18

ght that can pass through a
a data logger and conducted an

ps made of material, X, Y and Z, of the same
the results in the graph below.

| .

— e

X Y Z Material
What materials could cups X, Y and Z be made of?
X Y Z
frosted glass ceramic glass
glass frosted glass ceramic
frosted glass glass ceramic
glass ceramic frosted glass

(4)

The diagram below shows the process of photosynthesis in a plant.

presence

= D
+ carbon ) |
dioxide = |

Which of the following correctly represents A, B, C and D in the diagram?

(1)
(2)
)
(4)

A B C D-
sugar fight water energy
water sugar light snergy

light sugar waler oxygen
water light sugar oxygen
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Jonathan rolled a ball down a U-shaped ramp. The diagram below shows the
position of the ball as it rolls from A to C,

Which cf the following shows conectly the changes in the kinetic energy and
potential energy of the ball as it roils from A to C?

change in kinetic anergy change in potsntial ensrgy
ftomAtwB fromBfoC
(1} increases increases
(2) Incraases decreases
(3) decreases Increases
(4) decreases decraases
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25.  Gabriel threw a ball from point W. The diagram below shows the position of the
ball at points X, Y and Z, after it was thrown,

X
7 : \
Vs A
? A
/ v
7 \
7
?
!
I A I’
\ 7
1 7
\ Z 7

Gabrie! described the energy the ball possessed when it was at points W, X, Y
and Z

Which of the following descriptions are correct?

A There is no potential energy at Point W.
B The kinetic energy at Point Y is higher than the kinetic energy at Point Z.

C  The potential energy at Point X is higher than the potential energy at
Point Z.

D  The kinetic energy is decreasing as the ball travels from Point W to
Point X.

{1) AandBonly
(2) CandD only
(3) A CandDonly
(49 B,CandDonly

End of Booklet A
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Bookiet B (40 marks)

For quesfions 286 to 38, write your answers in this booklet.
The number of marks available is shown in brackets [ ] at the end of each question or pari
question,

26. +The diagrams represent the life cycles of a mealworm beetle and a cockroach.

{a) Fillin the boxes with the following words. (You may repeat some of the words.)

(2
@ Egg
e Adult
* Pupa
K Larva
»  Nymph

N _— TN
N e .

Life cycle of 2 mealwomt beetle Life cycle of a cockroach

{b) State a similarity between the young and the adult of the cockroach. {1l

{c) At which stage of the life cycle of the mealworm beetle does it moult? Why does

it moult at that stage? 1
(Go on to the next page)
SCORE
4
ACS (Junior) PS5 SA2 2017
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27.  Jemmaine planied a bean seed In a iransparent pot. Over tha next month, sha observed
its growth and drew her observations. The diagrams show fer drawings.

(a) Arrange Jermaine’s drawings of her observations, A, B, C and D, in the

corect order beginning with what she saw first. i1]'
{b) What are the conditions niecessary for germination 1o take place? 11
(c) In the box below, label and name the pari that provides the energy for
germination.

g

(Go on fo the next page)
SCORE

' 3
ACS (Junior) P5 SA2 2017 _ .
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28,

Study the diagram below carefully. The diagram represents some of the characteristics

of Laura’s family.

Father

« tall
s dimples

* curly brown hair
e detached ear lobes
* big brown eyes

v

Mother

* short
» dimples

» straight black halr
¢ detached ear lobes
* small black eyes,
a fong finger nails

» ghert fingsr nails

/ Daughter ‘L aura) \

e tall

¢ dimples

» siraight black hair
» detached ear lobes
« small brown eyes

s long finger nails
\_ J

(@) Which characteristics that are common to both parents did Laura inherit?

11

(o)  Name one characteristic found only in Laura’s mother that Laura inherited. 1]

ACS (Junior) P5 SA2 2017
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SCORE
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Cldeon conducted an experiment as shown in the diagram below. He heated some
water in Pelri dish X until it started boiling. He then piaced a metal tray above it.

(a)  Identiiy the states of water 2t A and B. {11
A
B
(o)  Atthe end of the experiment, Gideon noficed that the volume of water in the
Petri dish X had decreased, Explain why. i1
(c) Explain clearly how the water dropleis on the metal fray were formed. 21
(d):  Suggest and explain clearly howhs can collect mors wafer in Pefri dish Y for
the same duration of the experiment. [
(Go on to the next page)
SCORE
ACS (Junior) P5 SA2 2017 2
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30, Ashley prepared the following 3 set-ups, X, Y and Z, and placed them In the laundry
room. There were 3 Identical towels welighing 150g each at the start of the experiment.
Each towel was then soaked in 100 mi of water.

Set-up X

Set-up Y

Set-up Z

The towel was spread out.

The towel was folded once.

The towel was fclded twice.

The table below shows the mass of each towel after 8 hours.

Mass of towel after 8 hours (g)

X

Y

Z

150

190

210

(a) Based on the information given in the table above, in which set-up was the
rate of evaporation the fastest?

(1

(b)  What was the factor that affected the rate of evaporation in this experiment?[1]

(c)  From the result of the experiment, which data in the above table is Incorrect?

Why?

(1

ACS (Junior) P5 SA2 2017

(Go on to the next page)

SCORE
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31.  Peter hung 4 objecis from arod as shown in the diagram below.

rod

x__+

————siring

|X Y

string L string

x__¥] x_ ]

Ohlect P Object G Object R Object S
He placed the North Pole of a bar magnei near the four objects and racorded his
observations in the table below, '

" Objsct Obssrvations
North Pole and X North Pole and Y
P atiracted repelled
Q atiracied altracied
R - remained still remained still
S repelled aftracted
(@)  Which object, P, Q, R or S, could be made of glass? Explain why. {11

(b)  What material could Object Q be mads of? Explain your answer based on the
observations made by Peter.

M

{c)  Which of the objeci(s) is/are maghets? Explain why.

{1

ACS (Junlor) P5 SA2 2017
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32, The diagram below shows the human digestive system.

(a) Name the parts labelled B arr E. 1]
B:

€:

(b) A substance s added to food in both parts A and C. What is this substance?  [1]
Explain its function.

(c) Whatis the function of Part D? 0]

(Go on to the next page)

SCORE

ACS (Junior) P5 SA2 2017
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33, Kelvin was lifing some weights in the gym.

{a) Describs how oxygen in the surrounding air was sant io his arms when he 2]
was fifling the weighis.

(b} State two substances in the circulatory system that the body requires mors M1
when he was lifting weights.

(Go on to the next pags)

SCORE

AGCS (Junlor) P5 SA2 2017
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34. Jeff made a study of the parts that are found in some cslls. He recorded his
observations in the table below, using a tick ( v ) to indicate the presence of the

parts In each cell.
Cell A Cell B CsellC
Cellwal v v
Cell membrane v v v
Chioroplast v
Cytoplasm v v i v
Nucleus v v v

(@) Which of the celi(s) Is / are likely to be taken from a plant? Give areasonfor  [1]

your answer,
Study the diagram.
f( <7 7 N
g & )
= e
(b) Which cell, A, B or C, best represents the diagram above? [1]

(c) Inthe diagram above, label and name the part that control the movementof  [1]
substances going in and out of the cell,

(Go on to the next page)

SCORE

ACS {Junlor) P5 SA2 2017
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35. The diagram below shows g bulb and two batteries.

g

(2) Draw 3 wires to show how you would connect the batteries to the bulb to i1
produce the brightest light,

(b) Study the electrical circult below.

(@ What will happen to the other bulbs if Bulb 2 is biown? (1
(i)  What can he do to allow him to control the light buibs indivicually? [1]
{Go on to the next page)
SCORE
3
ACS (Junior) P5 SA2 2017 -
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38.  Christopher filled two identical containers, A and B, made of the same material with
equal amounts of water at different temperatures. He then placed them in a room
with a temparatura of about 28°C,

rA
Temperature of watér: Temperaturs of water:
4°C 52°C
(a) The set-up was left in the room for about 30 minutes. Place a fick (¥)inthe [1]
correct boxes to indicate the possible changes taking place during the

30 minutes,
Lose heat Gain heat | Temperature | Temperature
increases decreases
Water In
Contalner A
Water in
Contalner B

Christopher then set up another similar experiment but the containers (C and D)
were made of different materials. He filled them up with water.

Container C Container D
(b) What was the aim of Christopher’s second experiment? 1]

(¢) Inthe table below, put a tick ( ¥ ) in the boxes next to the statements for the 1M
experiment to be a fair test.

Statements Tick {v)
Both containers should have the same amount of water.,
Both containers must be of the same size.
Both containers must be made of e same matenal.
The temperature of the water in both containers must be diffstent.
Both must be placed in the same location,

(Go on to the next page)
SCORE

ACS (Junior) P5 SA2 2017 2
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37.

13

Andrew released three Identical steel balls, X, Y and Z from thres different heighis
enio a tray of sand. The diagram beiowshcmﬂre depressions mads by the three
iron balls after they were released.
-»:f’f‘ o '(; :ag“ é S, A sand,
r?‘é(t o ?,._ AR m@;
f"" *:; s,«, R0 &*} 5 “{;}} 55 s 5\2
*3 5&33.’2:25 B ;ﬁ?ﬁ(ﬁﬁ‘.’éf?ﬁge—w P2 }ervﬂ??crg
{a) Based on the diagram above, arrange the steel balls, X, Y and Z, based on 1
the height they were releasad from the highest fo the lowest,”
Andrew bought a styrofeam ball, C, of the samb size as the steel balls. He dropped
balls C and Y from the same height.
{b) What would Andrew cbserve? Explain youranswer. : 1]
(Go on to the naxt page)
SCORE
ACS (Junior) P5 SA2 2017 i 2
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38. Deminic set up an experiment using a water source and a water wheel as shown i

the diagram.below.
water
sSource
water wheell
i L]

(a) 'Vithout adding or replacing any of the itenis above, state two methods for
Dorminic to increase the speed at which the water wheel tums. [2]
Method 1:

Method 2:
(b) Name the main form of energy the spinning water whee! has as it tums. 1]
End of Paper
SCORE
3
ACS (Junior) P5 SA2 2017
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EXAM PAPER 2017 (P5)
SCHOOL : ACS
SUBJECT : SCIENCE

TERM : SA2
Q1 Qz Q3 Q3 | Qs Q6 Q7 Q8 Q9 Qio
z 4 Z 1 ! 3 2 3 1 i 3
Qi1 Q12 Q13 Q4 a5 | aQis Qi7 Q18 Q19 Q20
3 2 2 a 2 3 3 3 2 4
Q21 Q22 Q23 Q24 azs
3 4 a | 1 2 ]
26)a) Egg .
“a
Adult Larva Egg ———» Nymph

Pupa

b)They resembles each other.

c)larva. The larva is growing bigger.
27)a)A,C, B, D

b)Air, Water, Warmth

seed leaf

Adult
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28)a)Dimples and detached ear lobes.
b)Straight black hair.
29)a)A: Gas B: Liquid

b)The water had gained heat from the fire and had evaporated into water
vapour.

c)When the water vapour touches the cooler underside of the metal tray the
water vapour loses heat and condenses into water droplets.

d)Add ice into petri dish X, the lower the temperature of water in petri dish
X the faster the rate of condensation.

30)a)X.
b)The amount of exposed surface area.

c)The mass of towel in set-up Z after 8 hours is incorrect. The mass of the
towel after 8 hours cannot be the same as the mass of the towel at the
beginning of the towel after 8 hours must be less than that at the beginning of
the experiment.

31)a)R. As glass is a non-magnetic material, it will not respond to any magnet
like shown in the table.

b)Steel. it did not get repelled by the magnet but got attracted, steel is a
magnetic material and it will only get attracted.

)P and S. Only magnets can repel each other when their like poles are
facing each other.

32)a)B: Gullet E: Small intestine
b)Digestive juices. It breaks down food into sim pler substances faster.
c)it is to absorb all the water from the undigested food.

33)a)When the weight lifts he will breath in the air from the surroundings the
air will be sent to the lungs, the lungs will then be absorbed , it will then be sent
to the heart the heart will pump the oxygenated blood to the arms.

b)Oxygen and water.

www.testpapersfree.com



34)a)A and C. Only plants cell wall other one does not have cell wall.

‘\\

]]7 cell membrane

b)C.

c) B -
(r )
|
| I :
I _J

35)a) | : ,

|
l

|
|
|
I
|
|
!
A

i)Nothing will happen, bulb 2 and 3 will still be lit up.

1/

—"?

=

ii)He can fix a switch beside every bulb.

36)a)
Lost heat | Gain heat | Temperature | Temperature
: ) B _increases decreases |
Water in A v J
Water in B v J

b):l'o find out which material is a better conductor of heat.
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36)c) L

37)a)Y X, Z

b)Ball Y mad a deeper depression than ball C, hence more potential energy is
converted into kinetic energy.

38)a)1)Turn the water source more so that more water could flow out.
2)Place the water source higher.

b)Kinetic energy.
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